51

&

B
1318

R Zl 2 P 9 Bk i 43 T =3

9:30 [/NE5E(B) 80mHR 14

9:35 |/NFESFE(X) 80mHR 14

9:40 |[/NE6EFE(R)  80mHR 14

9:50 (= (5) 3000mik 15% 9:50 /NFE(B-%) FEMRB 9:50 —f%-PF(H-x)fank
10:35 |th## (%) 800m¥ 18%& (3%&+24)  2#f SE(E) 1% ﬁﬁii 32
10:45 |/NE545 (%) 800miR 74 10:40 /NF(B-%&) E=Bk 10:40 INRE(B ) DR yIR—IL%
050 | hoE(K)  soomt  5E OF (%) 3 o (B) o2
10:55 [/NE55 (5) 800mik 34 SF(X) 14 SF(x) 2%
11:00 [/hE6 45 (5B) 800miR 14

11:05 [—f% (5) 100m¥ (3F+2%)16% 24

11:10 |22 (B) 100mF (FA LL—RFE)568 1~74

11:35 [ (&) 100mT (B4 LL—RATF:&) 344 54

11:50 [/h224 4 (%) 100mF (B4 LL—RF&E) 1248 240 |11:50 —#% (B) -h2 (R) Eigdk

12:00 [/N$64E (%) 100m¥% (B4 LL—RFE) 108 248 —fi%(5) 3% |12200 —f (B k) PV
12:10 |2 (%) 200m¥  (3%E+28)10% 24 PEE) & —#%(B) 8%
12:20 | e (8) 200mF (3E+28)16% 2@ —RE) 14
12:30 [/NE5E (&) 4X100mRiR (3F—L)

12:35 |/INE6E (X))  4X100mRR (6F—L)

12:40 [/NE55E (5) 4X100mRiR (2F—L)

12:45 [IN#6EE(B)  4x100mRR (1F—L)

12:50 |2 (%) 800mik 8% 13:00 HZE(B-%) ESBk 13.00 —fig-h= (5 -%) A%
13:30 |22 () 110mHiR 4% izgg jg :Eﬁgi; ?2
13:40 |2 (%) 100mHR 64 iggi; 22
13:50 | %2 (%) 100miR 8%

13:55 |2 (5) 100miRk 8%

14:00 |/NE4A%E (K) 100mik 8% 14:00 % (%) EfE Bk

14:05 [/NE55 (%) 100miRk 44 (%) 94

14:10 |/NE6 4 (K) 100miR 8%

14:15 |/NEAE(H)  100miR 9%

14:20 |/NE545 (5) 100mik 44

14:25 [/hE6 5 (5B) 100mik 34

14:30 [— & (B) 100miR 8% 14:30 —f(FB-2Z) /NI —H#&
14:35 | — % (%) 100mik 14 Zﬁiﬁii ZE
14:45 [—f% (5) 400miR 6%

14:50 | — % (&) 1500mik 144

15:00 |— % (5) 1500miR 1944

15:10 (1% (%) 200mik 84

15:15 [FRZ2(5) 200mik 84

15:20 | —#i% (%) 200mik 14

15:25 |—#i% (5) 200miR 74

15:35 | (K) 4X100mRiR (7F—L)

15:40 |22 (5) 4x100mRiR (8F—L)
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15:45




